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English lesson 1
This week we are going to be looking at the history of the
Olympic games and writing a non chronological report.

So your first task is to collect your information. This could
be through reading or watching documentaries on You
tube.

Some questions you will need to answer...

When did they begin?

What were the first games like?

How did the Olympic flame tradition?

What countries take part?

What sports do they have? Has this changed over the year?
There will be lots of exciting stories to discover.




English lesson 2

LT: to use brackets, dashes or commas to indicate parenthesis.

Parenthesis is just extra detail in a sentence and we can use all 3
forms of punctuation to add extra information.

E.g The Olympic games, which began thousands of years ago, still
has a huge impact on the modern world. \

You could’ve used brackets () or dashes - - to mark the extra
information

Using your notes from yesterday, choose some of your simple
sentences and add extra detail to make them interesting. Choo
which punctuation you will use.



English lesson 3

Today you will be planning your chronological report. This
means you will need to organise where everything is going to
go. You will need an introduction to your information page and
a snappy title. An introduction will give the reader a general
overview of what the report is about.

the information to go, you will no doubt need pictures so make
sure that you leave spaces for your drawings. Or photos?
Did any of you go to see the Olympic torch when it came
through our area? That would make an excellent paragraph!!

Give yourself some subheadings and organise where you want \




English lesson 4

Time to get writing or typing!!

Now the year 5/6 spelling words always need to be included if possible, so | will put the
and see how many you can use and spell correctly!

accommodate accompany according aggressive amateur ancient apparent appreciate attach
available average awkward bargain bruise category cemetery committee communicate com
competition conscience conscious controversy convenience correspond curiosity definite desp
develop dictionary disastrous embarrass environment equipment equipped especially exaggera
excellent existence explanation familiar foreign forty frequently government guarantee harass
hindrance identity immediate individual interfere interrupt language leisure lightning marvellou
mischievous muscle necessary neighbour nuisance occupy occur opportunity parliament persuad
physical privilege profession programme pronunciation queue recognize criticise recommend
relevant restaurant rhyme rhythm sacrifice secretary shoulder signature sincere sincerely s
stomach suggest symbol system temperature thorough twelfth variety vegetable vehicle




English lesson 5

Finish your report and add the pictures and
captions

If you have finished, you can edit your work.
Have you used a relative clause?

Have you used some interesting cohesive
devices to link your paragraphs?

Check your spellings?

Is there a paragraph that could be better?




. ._
Milliors Hundred Ten Thousands Thousan ds

1 000 000 100000 0 00 1000
Maths lesson 1

LT: To multiply and divide by 10, 100 and 1,000

Click the link below to remind you how to multiply and divide by 10, 100 and 1,000.
https://www.bbc.co.uk/bitesize/topics/z36tyrd/articles/z2fkwxs

3. Complete the following table

1. Fill in the missing numbers in these multiplication calculations:

a. 476 x = 4760 b. x 10 = 24
c. 75 x = 7500 d. x 1000 = 5670 38
e. 34 x = 340 f. x 10 = 8670 14

2. Fill in the missing numbers in these division calculations:

a. 765 + - 7,65 b, £10 =18
c. + 1000 = 6.56 d.23+ - 0.23 i
e. +10 = 6.8 . 340 + = 0.34



https://www.bbc.co.uk/bitesize/topics/z36tyrd/articles/z2fkwxs

Maths lesson 2

Remember to use
your place value grid.

LT: To find percentages of amounts.

10% - + the amount by 10
1% - + the amount by 100
5% - + the amount by 10, then + by 2

A B C D E F G H 1 J K L M
& 15 21 5 13 . 18 7 12 1 25 19 o
N 0 P Q R 5 T u v w X Y z
22 16 11 26 2 17 20 3 10 8 14 23

Reveal a spring-themed joke by working out the
answers to each of the calculations. Use the
grid above to locate the letter that matches
each answer. The joke will read down the
tables.

Answer
25% of 20 10% of 220
20% of 80 80% of 20
50% of 26
20% of 85 75% of 20
15% of 20
80% Df 30 50% “f &0
10% of 130
30% of 50 40% of 15
1% of 200 10% of 110
2% of 150 40% of 5
25% of 24 75% of 16
20% of 10 50% of 38
10% of 230
75% of 12
25% of 76 75% of 8
40% of 30 20% of 115
62.5% of 40
1% of 1300
50% of 18
20% of 30
0.5% of 400
75% of 28

20% of 35




Maths lesson 3

LT: To find percentages of amounts.

. A grocer has 60kg of potatoes. In one day, he sells 50% of the potatoes. What mass of

10% - + the amount by 10
1% - + the amount by 100
5% - + the amount by 10, then + by 2

Click the link for a quick 'Pitch
Percentage’ quiz. Gary

Lineker and Ben Shires present it, it
links to football.
https://www.bbc.co.uk/bitesize/topic
s/znjqtfr/articles/zsgwqbf

. A decorator buys 24 litres of paint. When he finishes painting, there is 25% of the paint

. Acollection is made for local charities, which raises £60. 20% of the money is given toa

. Amit reads a book with 250 pages. He reads 10% of the book each day. How many pages

. An athlete runs 30 miles a week in three runs. On one day, the athlete runs 40% of the

Don't forget the
step when solvin
problems. Read th

potatoes does he sell?

( )

left. How much paint is left?

( ]

children’s charity. How much does the children’s charity receive?

( )

does he read each day?

( ]

mileage. How long does the athlete run on this day?



https://www.bbc.co.uk/bitesize/topics/znjqtfr/articles/zsgwq6f

Maths lesson 4

Times table challenge

Record your time.
Can you beat it next
time?

Ask a member of your household to
read quesztion 1-4.

Q1) 14 x 6=

Q2) 400 + 20’=

Q3)8x1.75 =

Q4) What is the product of 6, 10 and 80?

Times Tables Test 2

Oral Questions

1.

Calculate

5. 260 = 120 = 11.
6.3 =81= 12.
T.13 =42 = 13.
B.5'x15= 14.
9.72 = 1500 = 15,
10.0.75 =15 = 16.

Complete these calculations

17.13 = = lo? 18.

o

237 +05 =
4001 = 5 =

1915+ 8 =
2278+ 4 =
2432+ 05 =

7369+ 100 =

3007 + = 501rl

19. Sam loves to play on his games console. He buys 5 new games

which cost £24.75 each. How much does he spend on

games?

20. Grandad Jim wants to share E8745 between his &
grandchildren. How much will each grandchild receive?




Maths lesson 5 . . =k
Arlthmetlc HEEEEEEEEEREEE

10 | 6x60= HEEEEEEEEEEEEN
13 | 45x76= @ | L

't ----------------- 16 T‘!‘z'

.............................

...............

11 | 6934+ 4m

17 | 7.62x 100=-

---------------

ANEEEEEEEEENEEEEEEE 14 | 3542+ 14 =

12 | Z2x(3 +4)=

18 | 20% of 3462 =

..........




Topic lesson 1 - Science

LT: To identify inherited characteristic that
are passed on from parent to offspring.

Watch the video to help you to understand the meaning of inheritance.
https://www.bbc.co.uk/bitesize/topics/zvhhvecw/articles/zp9f4qt

s N s N

After watching t
video, explain w
inheritance mean
in one sentence.

Draw the worksheet like the one to your left.
Investigate the characteristics you have inherited from your
parents (sometimes if can be other family members) by closel
examining pictures or just thinking about similarities.

| Draw a picture of your parents (or family members) in the top
y = \ two boxes.

In the bottom box, draw yourself.

Then, bullet point everything you have inherited from the
family members you have chosen.

-
N\
7
N\

:
:



https://www.bbc.co.uk/bitesize/topics/zvhhvcw/articles/zp9f4qt

After watching th
video, explain wha

Topic lesson 2 - Science e entonce

one sentence.

LT: To understand the meaning of adaptation.

Watch the video to help you to understand the meaning of adaptio

https://www.bbc.co. uk/b1te51ze/toplcs/zvhhvcw/art1cles/zxg7y4]
Create a table like the """""" ' .':

one below. You will need
at least eight spare rows.

Living | Habitat | Adaptive ' 2 : 'Q -
Things Tratt o T S =

{Its nostrils are on the top of
i its head so that it only has to
i break the water to breathe.

Its white fur enablesitto | |

i Pt i It has spines to protect itself.
camouflage in the snow. ;! H P P § H

i It has wide feet to make it } i
easier to walk in sand.

Match the living thing with its habitat, T
then identify one of its adaptive traits. 3 = a
You could print this page and cut and

tick into the correct columns or you

ould draw the pictures and write the
daptive trait.

i It contains toxins that makes
it unappetizing to certain
predators.

Ash Tree Rainforest

.............................................................................................................

: HE i It has broad leaves, which
: Its narrow tongue allows it to ; ! i enables it to catch more

¢ eat small fruit and insects. i



https://www.bbc.co.uk/bitesize/topics/zvhhvcw/articles/zxg7y4j

Answers - maths

Lesson 2
Answer Letter Answer
25% of 20 5 D 10% of 220 22
20% of 80 16 o 80% of 20 16
50% of 26 13 E
Lesson 1
20% of 85 17 s 75% of 20 15
1. Fill in the missing numbers in these multiplication calculations: 80% of 30 24 F 15% of 20 3
50% of 40 20
a. 476 x 10 = 4760 b. 2.6 % 10 = 24 10% of 130 13 E
30% of 50 15 B
c. 75 x 100 = 7500 d. 5.67 x 1000 = 5670 . fzoo 40% of 15 6
1% of = 10% of 110 11
e. 3.4 % 100 = 340 f. 867 x 10 = 8670 2% of 150 3 u 40% of 5 2
25% of 24 A 75% of 16 12
2. Fill in the missing numbers in these division calculations: 20% of 10 2 R 50% of 38 "~
10% of 230 23 Y
a. 765 + 100 = 7.65 b. 180 + 10 = 18
25% of 76 19 L 75% of 12
¢. 6560 + 1000 = 6.56 d. 23 + 100 = 0.23 40% of 30 12 : 75% of 8
e 68+10=68 f 340 + 1000 = 0,34 62.5% of 40 25 K 20% of 115 23
1% of 1300 13 E
3. Complete the following table 50% of 18 9 M Lesson 3
0.5% of 400 2 R 1 30hg
38 380 38 3800 0.38 75% of 28 7 c .
74 740 T4 7400 074 20% of 35 7 H? ’
s - a0 0urs 2. 6 litres
450 4.5 4500 045 £12
579 5.79 5790 0.579 3'
765 7.65 7650 0.765
4. 25 pages
.
5. 12 miles




Answers - maths

Lesson 4
Oral Questions
1. 14 x 67 = 504 2.400 +20°=1 3.8x175=14 Lesson 5
4, What is the product of 6, 10 and 80? 4800
Calculate 10 360
5.240 x 120 = 28 800 11. 237 + 0.5 = 474
n 1733.5
6.3 x 81 =729 12. 4001 + 5 = 800r1
7.13 x 42 = 546 13. 1915 + 8 = 239r3 12 14
8.5% x 15 = 1875 14. 2278 + 4 = 569r2
9.72 x 1500 = 108 000 15. 2432 + 0.5 = 4864 13 3420
10. 0.75 x 1.5 = 1.125 16. 7369 + 100 = 73.69
14 253

Complete these calculations
17.13 x 59 = 767 18. 3007 + 6 = 501r1 15 2-1;?-
19. Sam loves to play on his games console. He buys 5 new games 16 T!‘

which cost £24.75 each. How much does he spend on games?

£123.75 17 762
20. Grandad Jim wants to share £8745 between his 6

grandchildren. How much will each grandchild receive? 18 692.4

£1457.50




Answers - Science lesson 2

Living Things

Habitat

Adaptive Traits

Living Things

Habitat

Adaptive Traits

Arctic

Its white fur enables it to
camouflage in the snow.

Hedgehog

It has spines to protect itself.

It has wide feet to make it
easier to walk in sand.

Its nostrils are on the top of
its head so that it only has to
break the water to breathe.

Cactus

It stores water in its stem.

Coral Reef

It contains toxins that makes
it unappetizing to certain
predators.

Toucan

Rainforest

Its narrow tongue allows it to
eat small fruit and insects.

Ash Tree

Forest

It has broad leaves, which
enables it to catch more
sunlight.




Additional resource links

u  https://ttrockstars.com/ (log in details were attached to the initial learning
packs sent home)

u https://play.numbots.com/

,,

u  Purple Mash activities Woek 2 : -
1) Y6 SUM2 WK2 Quiz e
2) Light words r \
.1 : ALUA
3) Avoiding nice -
% Avoiding Nice

Light Words

\ J



https://ttrockstars.com/
https://play.numbots.com/#/intro

